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Answer all questions

All questions carry equal marks.

Only one answer is to be given for each question.

1f' more than one answers are marked, it would be treated ag

WIORE answer

Each guestion has four altemative responses marked serially

as 1, 2, 3, 4. You have to darken only one circle or bubble

indicating the correct answer on the Answer Sheet using BLUE]

BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. ‘When|

you are directed te open the Test Booklet, take out thel

Answer Shee: and fill n the particulars carefully with blug

ball peint pen only.

1/3 part of the mark(s) of each question will hel

deducted for each wrong answer. A wrong arswer means

an incorrect answer or moze than one answers for any
question, ieaving all the relevant circles or bubbles of any
qucstion blank will not be corsidered as wrong answer.

8. Mebile Phonc or any other electronic gadget in the
examination hall is strictly prohibited. A candidate Sund
with any of such objectionabie material with him/her will byl
strictiy dealt as par rules.

9. Dlease correctly fill your Roll Number in O.M.R. Sheet |
5 Marks can be deducted for filling wrang or incomplere Roll
Number.

10. If there is any sort of ambiguity/mistake either of printhg o1
factual nature ther oat of Hindi and English Version of f thel
question. the English Version will be treated as standard.

Warning : If a candidzte is found copying or if any un&uthwcq

matcrial 1s found in his/her posszssion, FLR. would be lodged

againsi him/her in the Police Station and he/she woulé liable 1o b

prosecuted, Depertment may also debar him/her permanantly
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Ttvs @g A fol & sgEm ICMR-
NIN, 2020) T& et afgen & ¢
v it FAEEHAE

(1) 1000 frctim /e

2) 1050 facfimm/fa

3) 1100 fehum/fe

(4) 1200 fuetam /i3

Maillard reaction takes place
when protein is cooked for a
prolonged period of time with

(1) Sugar

(2) Vitamins

(3) Minerals

(4) Antioxidants

What does HACCP stand for ?

(1) Hazard Analysis and Critical
Control Point

(2) Hazard and Critical Control
Point

(8) Health Analysis and Critical
Control Point

(4) Hazard and Critical Coocking
Point

About 97 percent dietary lipids
are present in the form of

(1) Phospholipids
(2) Triglycerides
(3) Cholesterol
(4) Glycerol

What is the pmimary reason for
blanching food ?

(1) Cleans the food.

(2) Prevents pest infestation.
(3) Inactivates enzymes in food.
(4) Prevents food from drying.

As per the report of expert group
(ICMR-NIN, 2020) calcium
requirements for a pregnant
woman 1s

(1) 1000 mg/day
(2) 1050 mg/day
(3) 1100 mg/day
(4) 1200 mg/day
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Computation “of energy
requirement for an adult is based
on

(1) Factorial Approach

(2) Nutrient turnover

(3) Nutrient balance

(4) Dietary intake

As per the ICMR-NIN 2020 the
age for Reference Indian Adult
Male and Female has been
mentioned in the definifion is

(1) 19-39 years

(2) 20-39 years

(8) 19-40 years

(4) 20-40 years

In which organ of the body
B-carotene changes to retinol ?

(1) Liver

(2) Pancreas

(3) Gall Bladder

(4) Intestine

Arrange the right sequence in
decreasing order of protein
content in food :
A. Bread

B. Cheese

C. Butter

D. Boiled egg
Codes:

1M A B C
@2 B C D
3 C A B
4@ D B A

olwl gw)

Give the sequential involvement
of enzymes for the digestion of
food in the gastro-intestinal tract :
A. Iso-maltase

B. Pepsin
C. Ptylin
D. Amylase
Codes :

() A B
@2 C B
3 D A
4 B A

(@Yvrlwle)
wlobde!
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11.

12,

13.

Arrange the following foods in
ascending order of their iron
content :

A Egg
B. Leafy vegetables
C. Liver
D. Milk
Codes :
(WD B A C
@ C A B D
@ C B D A
44 A C D B

Given below are two statements,
one is labelled as Assertion (A)
and the other is labelled as
Reason (R).

Assertion (A) : Consumption of
plenty of fruits and vegetables
protects individuals from certain
cancers.

Reason (R) : The antioxidants
present in fruits and vegetables
help in removal of free radials.
Codes :

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true.

@3) (A)is true, (R) is false.

(4) (4) is false, (R) is true.

Arrange in the correct sequence
of the symptoms of diabetes as
they appear with advancement of
disease :

A. Dehydration
B. Glycosuria

C. Polyurea

D. Ketosis

E. Hyperglycemia
F. Diabetic coma

1) E C
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B
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14. Put the following foods 1In

15.

16.

increasing order of their calcium
content :
A. Bengal gram dal

B. Milk

C. Spinach

D. Almond
Codes :

My B D C A
@D B A C
3 C B A D
@ A C B D

Which of the following foods are
rich in Omega-3 fatty acids ?
A. Lard

B. Butter

C. Fatty fish

D. Mustard seeds

E. Walnut

Codes :

(1) AADand E

2) C,Dand E

B A,Cand E

(4 B,Cand D

The three main Omega-3 fatty
acids are

A. Alpha-linolenic acid
B. Butyric acid

C. Eicosapenataenoic acid
D. Docosahexaenoic acid
E. Palmitic acid

F. Stearic acid

(1) AL Band C
2) A,Cand E
8) B,Cand D
4 A,CandD
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18.

19.

20.

21.

Infants born to mothers who are
vegan may be at increased risk of
deficiency of which nutrient ?

(1) Vitamin C

(2) Folate

(3 Vitamin B,,

(4) Calcium

The iron requirement during
pregnancy and lactation as per
ICMR-NIN, 2020 is

(1) 27 mg/d and 23 mg/d

(2) 23 mg/d and 29 mg/d

(3) 29 mg/d and 32 mg/d

(4) 32 mg/d and 27 mg/d

The additional protein
requirement in 3 trimester of
pregnancy as per ICMR-NIN,
2020 1s -

(1) 22 g/day

) 17 g/day

(3) 13 g/day

(4) 9.5 g/day

Physical Activity Level (PAL)
values for Indian reference adult
man doing moderate work
(ICMR-2010) is

1) 15

2) 1.7

3) 1.8

4 1.9

High Blood Pressure and the
presence of protein in the urine
during pregnancy may be signs of
(1) Preeclampsia

(2) Hyperemesis

3) Goitre

(4) Gestational diabetes
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22.

23.

24.

25.

and
during

A condition of severe
persistent  vomiting
pregnancy is called

(1) Hyperemesis gravidarum
(2) Placenta previa

(3) Diabetes

(4) Eclampsia

A pregnant woman’s energy
needs must be met in order to

(1) Spare vitamins

(2) Spare adipose stores

(3) Prevent foetal deformity
(4) Spare protein

Iron needs increase
pregnancy because of

(1) Constipation
(2) Increase blood volume

(3) Increased maternal metabolic
rate

(4) Poor iron absorption during
pregnancy

during

During pregnancy, which of the
following hormones is present in
the urine of the mother ?

(1) Progesterone

(2) Luteinising Hormone

(3) Follicle Stimulating Hormone

(4) Human Chorionic Gonadotropin
Hormone

The enzyme enterokinase helps
in the conversion of

(1) Trypsinogen into trypsin

(2) Caseinogen into casein

(3) Pepsinogen into pepsin

(4) Protein into polypeptides
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e VR 5% I & YRR & oo
(ICMR-NIN, 2020) & :

@) 50 feur

(2) 55 mm

(3) 60 fmm

(4) 65 fEm

ICMR-NIN, 2020 & 3iFdR Sl &
YT & AR T HIEH H g1 -
(1) 10 g/1000 kcal

(2) 15 g/2000 keal

(3) 20 g/1000 kcal

(4) 30 g/2000 kcal
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28.

29.

30.

31.

The intrinsic factor that helps in
the absorption of Vitamin By, is
secreted by

(1) Parietal cells

(2) Hepatic cells

(3) Oxyntic cells

(4) Chief cells

Which of the
statements is true ?
(1) Prolactin from the anterior
pituitary stimulates milk
production

Prolactin from the posterior
pituitary stimulates milk
production

Oxytocin from the posterior
pituitary stimulates milk
production

Oxytocin from the anterior
pituitary stimulates wmilk
production

The body weight of reference
Indian adult man (ICMR-NIN,
2020) is

(1) 50 kg

2) 55kg

(3) 60 kg

4) 65kg

As per ICMR-NIN, 2020
recommendations for fibre based
on energy intake is
(1) 10 g/1000 keal
(2) 15 g/2000 kcal
(3) 20 g/1000 kcal
(4) 30 g/2000 kcal

following

@
@)

@

The recommended estimated
energy requirements (ICMR-NIN
2020) based on BMR and physical
activity levels for sedentary
elderly woman weighing 55 kg is
(1) 1500 kcal

(2) 1600 kcal

(3) 1700 kcal

(4) 1800 kcal

10
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32.

33.

| 34.

35.

36.

317.

Acceptable carbohydrate
distribution range of lactating
women as percent of energy 1s
(ICMR-NIN, 2020)

(1) 45-65%

(2) 50-70%

(8) 55-756%

(4) 60-80%

Recommended dietary allowances
of niacin for moderate working
women is JCMR-NIN, 2020)

(1) 11 mg/day

(2) 14 mg/day

(3) 18 mg/day

(4) 20 mg/day

Which of the following is the most
common symptom of myocardial
infarction ?

(1) Chest pain

(2) Dyspnoea

(3) Edema

(4) Palpitations

Which of the following risk
factors for coronary artery
disease cannot be corrected ?

(1) Cigarette smoking

(2) Obesity

(3) Heredity

(4) Hypertension

Presence of RBC in wurine is
known as

(1) Proteinuria

(2) Hematuria

(3) Urolithiasis

(4) Nephritis

HDL is synthesized and secreted
from

(1) Pancreas

(2) Liver

(8) Kidneys

(4) Muscles
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38.

40.

41.

42.

43.

From which plant source 1s
gluten derived ?

(1) Soya

(2) Rice

(3) Corn

(4) Wheat

. Condition in which unabsorbed

fat remains in the stool is known
as

(1) Diarrhoea

(2) Steatorrhoea

(8) Cholecystitis

(4) Colitis

When the food is directly given in
the veins, it is called as

(1) Parenteral nutrition

(2) Enteral nutrition

(38) Nasogastric nutrition

(4) Saline nutrition

Cancer of the blood cells 1is

referred to as

(1) Kaposi Sarcoma

(2) Basal Cell Carcinoma
(3) Mesothelioma

(4) Leukemia

Which of the following is not a
symptom of lactose intolerance ?
(1) Bloating

(2) Stomach Cramps

(3) Nausea

(4) Fever

Another

disease is
(1) Cholelithiasis
(2) Cholecystitis
(@) Urolithiasis

(4) Hepatitis

word for galistone

10
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45.

46.

44. Given below are two statements,

one is labelled as Assertion (A)
and the other is labelled as
Reason (R).

Assertion (A) : Estrogen causes

more cholesterol to be secreted in

the bile and is therefore
associated with a high prevalence
of gallstones.

Reason (R) : Women on

hormone replacement therapy

are more prone to the
development of gallstones.

Codes :

(1) Both (A) and. (R) are correct
and (R) 1is the correct
explanation of Assertion (A).

(2) Both (A) and (R) are correct
but (R) is not the correct
explanation of Assertion (A).

(3) (A) is correct but (R) is not
correct.

(4 (A) is not correct but (R) is
correct.

Which nutrients is key for
supplying the body with energy ?
(1) Protein

(2) Micronutrients

(3) Fibre

- {4) Carbohydrate

What type of fat should make up
the majority of fat intake for a
healthy diet ?

(1) Saturated fat

(2) Unsaturated fat

(3) Fat from animal products
(4) Trans fats
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48.

49.

50.

can be used to treat
Phenylketonuria ?

(1) Eating mostly carbohydrates
with limited protein.

Eating mostly protein to
replace the lost
phenylalanine.

Eating a balanced diet of
protein and carbohydrates
and fats.

2)

@)

(4) Getting plenty of exercise to
burn off the extra
phenylalanine.

What type of diet 18

recommended for weight

maintenance ?

(1) Low protein and low
Glycaemic Index

(2) High protein and high
Glycaemic Index

(3) Low protein and high
Glycaemic Index

(4) High protein and low
Glycaemic Index

Burns are classified by degrees

from first to third. Which of these

describes a third-degree burn ?

(1) Burned area is larger than 5
inches across.

(2) Burned area is on the face.

(3) Burned area covers 10% of
the body.

(4) Burn extends through all the
skin layers and tissue.

Which of the following enzymes is

defective in galactosemia — a

fatal genetic disorder in infants ?

(1) Glucokinase

(2) Galactokinase

(8) UDP-Galactose 4-Epimerase

(4) Galactose-1-Phosphate
Uridyltransferase
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Which of the following is a
Sulphur containing amino acid ?
(1) Lysine

(2) Methionine

(3) Phenyl alanine

(4) Valine

Strict restriction of carbohydrates
is not done in a diabetic diet
because it can lead to

(1) Constipation

(2) Glycosuria

(3) Ketosis

(4) Hyperglycemia

The largest particle which

transports dietary fat and

cholesterol from the small

Intestine to the liver is known as

(1) Chylomicrons

(2) Very low density lipoprotein

(3) High density lipoprotein

(4) Intermediate density
lipoprotein

To  reduce the risk  of
atherosclerosis, total cholesterol
and HDL levels should be

(1) Cholesterol <200 mg%
HDL >60 mg%
Cholesterol >240 mg%
HDL <40 mg%
Cholesterol >200 mg%
HDL >40 mg%

Cholesterol <240 mg%
HDL >50 mg%

and

)

and

3)

and

@

and
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Etiological factors for peptic
ulcers are
A. Helicobacter Pylori Infection
B. Eating Habits
C. High Cholesterol Levels
D. Lack of Exercise
E. Hereditary Factors
odes :
(1) B,C, E
@ A BE
3) A, CE
4 AB,C

Which of the following i1s an ®-6
(omega 6) fatty acid ?

(1) o-Linolenic acid

(2) Arachidonic acid

(3) Caprylic acid

(4) Myristic acid

In severe infection the percent
increase in BMR for every degree
Fahrenheit rise in  body
temperature 1s

Q) 5%

2 6%

3 7%

1 8%

Group of inherited metabolic
disorders of three branched chain
amino acid is known as

(1) Homocystinuria

(2) Maple syrup urine disease

(3) Tyrosinemia

(4) Galactosemia

Gluten free diet is given to
patients suffering from

(1) Crohn’s disease

(2) Celiac disease

(3) Irritable bowel disease

(4) Liver disease

10
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. According to the
recommendations for the
nutritional  management  of
patients with diabetes, the

consumption of saturated fat
should be

(1) <10% of total daily energy

(2) <12% of total daily energy

(3) <15% of total daily energy

(4) <16% of total daily energy

Which of the following is not a
beneficial effect of exercise In
people with diabetes ?

(1) Reduction of triglycerides

(2) Hypoglycaemia

(3) Increase of insulin sensitivity
(4) Helps controlling hypertension

Which is the most common
substance found in gallstones ?

(1) Cholesterol

(2) Bile pigment

(8) Calcium carbonate
(4) Bile

End-stage liver disease is also
called

(1) Liver failure

(2) Cirrhosis

(3) Liver cancer

(4) Fatty liver disease

Which alcohol metabolite plays a
prominent role in  cancer
development ?

(1) Fatty acid ethyl esters
(2) Acetate

(3) Acetaldehyde

(4) Ethanoic acid
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Deficiency of thiamin in

alcoholics leads to

(1) Wernicke-Korsakoff
syndrome

(2) Cushing syndrome

(3) Fatty liver

(4) Hypogonadism

Which vitamin helps the cells in
the body to convert food into
energy ?

(1) Thiamin

(2) Ascorbic acid

(3) Tocopherol

(4) Retinol

A disease of infants and young
children characterized by
impaired  mineralization of

growing bones is known as
(1) Osteomalacia

(2) Osteoporosis

(3) Rickets

(4) Osteopenia

Niacin is part of the metabolizing
process of forming serotonin from
which amino acid ?

(1) Tyrosine

(2) Tryptophan

(3) Threonine

(4) Valine

. A congenital condition typically

caused by severe iodine deficiency
during gestation is known as

(1) Goiter

(2) Down syndrome
(3) Spina bifida
(4) Cretinism
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Which of the following extrinsic
factors is required for maturation
of red blood cell ?

(1) Thiamine

(2) Folic acid

(3) Iron

(4) Riboflavin

Trypsin inhibitor is found in
(1) Soybean

(2) Potato

(3) Cabbage

(4) Onion

Clinical state resulting from use
of edible oils adulterated with
Argemone oil is

(1) Lathyrism

(2) Botulism

(3) Endemic ascities

(4) Epidemic dropsy

Aflatoxins are toxins produced by
which mold ?

(1) Cladosporium

(2) Mucor

(3) Aspergillus flavus

(4) Acremonium

Condition caused by
overexposure to fluoride during
the first eight years of life 1s
known as

(1) Kyphosis

(2) Dental Fluorosis

(3) Skeletal Fluorosis

(4) Osteoporosis

. National Prophylaxis Programme

Against Nutritional Blindness
was initiated in which year ?

(1) 1970

2) 1975

(3) 1978

(4) 1980
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A non-protein amino acid present
in the seeds of Lathyrus sativus is

(1) Ornithine

(2) Trans-4-hydroxy-L-proline
(3) Beta-N-oxalyl amino-L-alanine
(4) Histidine

In 1970 National Office of Vital

Statistics and the National Health

Survey merged to form the

(1) National Centre for Health
Statistics

(2) National Council for Health
Statistics

(3) National Centre for Health

Surveys

(4) National Centre for Health

Schemes

Number of dimensions of food
security are

(1) Two

(2) Four

3) Six

(4) Eight

Maltose is composed of which two
sugars ?

(1) Glucose and Glucose

(2) Glucose and Fructose

(3) Glucose and Galactose

(4) Fructose and Galactose

When was the Antyodaya Anna
Yojana (AAY) scheme launched ?
(1) January, 1999

(2) May, 2000

(3) December, 2000

(4) October, 2005

The data of births, deaths,
marriage and divorce are called

(1) Mortality
(2) Morbidity
(3) Vital statistics
(4) Prevalence rate

io
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Which group of the global
population is most affected by
anaemia ?

(1) Preschool children

(2) Pregnant women

(3) Non-pregnant women

(4) Lactating women

What will be the Body Mass Index
(BMD) of a person whose height is
1.75 m and weight is 98 kg ?

(1) 29

@) 32

3) 39

(4) 43

The average length at birth for a
full-term Indian baby 1s

(1) 14-18inch

(2) 18-22 inch

(3) 22-26 inch

(4) 25-30 inch

Which of the following is the most
frequently used anthropometric
measure to estimate body mass ?
(1) Body fat

(2) Body height

(3) Body weight

(4) Fat free mass

When do mothers often make the
transition from breast milk to
solid foods to babies ?

(1) After 2 months

(2) After 6 months

(3) After 12 months

(4) After 18 months

Which of the following 1s
characterized by elevated levels
of an amino acid in blood ?

(1) Hyper metabolic disorder

(2) Down syndrome

(3) Diabetes

(4) Phenylketonuria
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Which one of the following
nutrients is not present in meat ?
(1) Fat

(2) Carbohydrate

(3) Protein

(4) Iron

Long and lean people with little
body fat and muscle are known as
(1) Ectomorphs

(2) Endomorphs

(3) Ecto-endomorphs

(4) Mesomorphs

Who are the beneficiary of Mid
Day Meal programme ?

(1) Primary school children

(2) Children 0-3 years

(3) Adolescent age (13-18 years)
(4) Poor families above poverty line

. Which one of the following is not

a monosaccharide sugar ?
(1) Glucose

(2) Sucrose

(3) Fructose

(4) Galactose

Which one of the following factors
does not affect oxidative rancidity ?

(1) Enzymes

(2) Ozygen

(3) Temperature

(4) Ultra-violet light

A protein-digesting enzyme found
in pineapple and used in the
tenderization of meat is

(1) Bromelain

(2) Papain

(3) Actinidin

(4) Ficin
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Which of the following study
determines the prevalence of
diseases ?

(1) Longitudinal study

(2) Case control study

(3) Cohort study

(4) Cross sectional study

Disproportionate nutrient intake
result in which type of
malnutrition ? ’
(1) Over nutrition
(2) Under nutrition
(8) Imbalance of nutrients
(4) Specific deficiency
nutrients

of

Constant presence of disease in
an area during a period of time is
known as

(1) Endemic

(2) Epidemic

(38) Sporadic

(4) Pandemic

Abdominal obesity in females is
defined as a waist-hip ratio
greater than

1) 0.7

(2) 0.85

(3) 0.95

“) 1.0

. A low birth weight baby is

defined as whose weights at the
time of birth is

(1) <1500 g

@) <2000 g

(3) <2500 g

(4) <3000 g

. What will be the nutritional

status of women if she is 1.60 m
tall and weighs 72 kg ?

(1) Under weight

(2) Normal weight

(3) Over weight

(4) Obese
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of total energy for adults should
be within the range

(1) <10%

2 10-20%

3 20-35%

(4) 35-50%

The most common nutrient
deficiency in heavy drinkers is

(1) Vitamin B,, deficiency

(2) Thiamine deficiency

(3) Protein deficiency

(4) Calcium deficiency

Which one of the following is not
a feature of marasmus ?

(1) Oedema
(2) Muscle wasting

(3) Shrivelled skin
(4) Decrease in immunity

The Recommended Dietary

Allowances (RNA) for a nutrient is

(1) Estimated average requirement
+18SD

(2) Estimated
requirement + 2 SD

(3)

4)

average

Adequate intake + 1 SD
Tolerable upper intake level
+ 28D

Components of the National
Vitamin-A Prophylaxis programme

are
A. Providing
nutrition
Distributing mega doses of
vitamin-A
C. Feeding colostrum
D. Encouraging consumption of
fruits and vegetables
E. All of the above
Codes :
1 ABC
@ E
3) B,D
4 B,C,D

supplementary
B.
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Y
[
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What is the primary method of
dietary assessment used in
epidemiological studies ?

(1) Inventory method

(2) 24-hour recall method

(3) Diet history

(4) Food frequency questionnaire

Fruit Product Order has
been in force since

(1) 1935 (2) 1955

(3) 1975 (4) 1995

is used to
assess early stages of energy
protein malnutrition in children ?
(1) Biochemical tests

(2) Anthropometry

(3) Pathological tests

(4) Biophysical tests

. Keratomalacia is an indicator of

(1) Vitamin A deficiency
(2) Vitamin C deficiency
(3) Niacin deficiency

(4) Riboflavin deficiency

. Dry and scaly skin disease 1n

children is caused by the
deficiency of which nutnent ?

(1) Vitamin D

(2) Essential fatty acids

(3) Essential amino acids

(4) Magnesium

. Which of the following nutrients

play an important role in the
metabolism of homocysteine ?
Vitamin By
Thiamine
Vitamin B,
Folic acid
Calcium
Codes

(1) B,Cand E
(3) A,CandD

mO oW P

@2 C,Dand E
4 A,BandE
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111.

112.

113.

114, Arrange

Which of the following are not
nutrient deficiency diseases ?
A. Xerophthalmia

B. Dyslipidemia

C. Osteomalacia

D. Keratomalacia

E. Anorexia Nervosa
Codes :

(1) Aand C

(2) Aand B

(3) Band E

(4) Dand E

Gain in weight per gram of

protein eaten is known as

(1) Protein efficiency ratio

(2) Net protein retention

(3) Protein digestibility-corrected
amino acid score

(4) Biological value

A deficiency of which vitamin has
been associated with enamel
defects and increased risk of
dental caries ?
(1) Vitamin A
(3) Vitamin C

(2) Folic acid
(4) Vitamin D

the progression of

nutrition deficiency disorder :
Tissue changes
Anatomical changes
Dietary inadequacy
Sub-clinical changes

SHCRN N

. Biochemical changes
Codes :

(1) CGCAJE,Dand B

2 C,D,A,EandB

3 D,B,A,Cand E

4 E B C,Dand A

10
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115.

116.

117.

118.

When using bioelectrical

impedance for measuring body

composition, why does an

electrical current travel faster

through muscle than it does

through fat ?

(1) Muscle contains less water
than fat.

(2) Muscle contains more water
than fat.

(3) Muscle weighs more than fat.

(4) Muscle weighs less than fat.

Name of the Genetic disorder in
which excess copper accumulates
in the body.

(1) Sickle cell disease

(2) Hemophilia

(3) Muscular dystrophy

(4) Wilson’s disease

Which one amongst the following

is not a Millennium Development

Goal ?

(1) Improve Maternal Health

(2) Combat HIV/AIDS, Malaria
and other diseases

(3) Ensure Environmental
Sustainability

(4) Develop a Local Partnership
for Development

Increased protein is necessary in

pregnancy for

(1) Preventing gestational diabetes

(2) Sparing carbohydrates for
energy needs

(3) Growing maternal tissues

(4) Preventing pregnancy-induced
hypertension
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| 119. Adequate folate intake in the
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120.

121.

122.

123.

periconceptional period helps to
prevent which of the following ?
(1) Cretinism

(2) Mental retardation

(3) Neural tube defects

(4) Gestational diabetes

Pulses are deficient in which
essential amino acid ?

(1) Methionine
(2) Phenylalanine
(3) Valine

(4) Lysine

To reduce the risk of complication
of heart disease, the systolic and
diastolic blood pressure should be

(1) <90 mmHg and <135 mmHg
(2) <135 mmHg and <90 mmHg
(3) <80 mmHg and <120 mmHg
(4) <120 mmHg and <80 mmHg

The Atwater factors for available
energy per gm for protein is

(1) 1.25 keal/g
(2) 5.4 kcal/g
(3) 4.1 kcal/g
(4) 4.0 kcal/g

The person who has had a renal
transplant should control intake
of which of the following
nutrients ?

(1) Carbohydrates
(2) Proteins
(3) Fats
(4) Vitamins
10
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. Long periods

. What

of parenteral
nutrition is not recommended
because
(1) It increases the toxicity of
blood.
(2) It puts
kidney.
(3) It puts pressure on the heart.
(4) It causes the Gastro-
Intestinal tract to degenerate.

pressure on the

. In cases of muscle fatigue, which

of the following vitamins should
be taken ?

(1) Vitamin A

(2) Vitamin D

(3) Vitamin E

(4) Vitamin K

. Which of the following groups of

amino acids are all essential
amino acids ?
(1) Leucine,
threonine
{2) Proline, tyrosine and serine
{3) Valine, glycine and arginine
{4) Leucine, cysteine and glycine

methionine and

127. ANl babies lose weight after birth,

you should be concerned when

(1) Weight loss is 5%.

(2) Weight loss is < than 10%.

(3) Birth weight is not regained

- byday?7.

(4) Weight loss is > than 10% or
birth weight is not regained
by day 14.

endogenous  substrate
source provides the most energy
during moderate to high intensity
exercise ?

(1) Liver glycogen

(2) Muscle glycogen

(3) Intramuscular lipid

(4) Adipose tissue lipid
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129. The best known enhancers of iron
absorption in the body are
A. Ascorbic acid
B. Folic acid
C. Lactoferrin
D. Polyphenols
Codes:
1 AC
3 B,D

2) B,C
4 AD

130. The amount of energy available

to the body after burning of a

food in the body is termed as

(1) Physiological fuel value of
food

(2) Heat of combustion

(3) Bomb calorimeter value

(4) Gross calorific value

131. The major form of Vitamin K

found in green plants is called

(1) Phylloquinone

(2) Menaquinone

(3) Polyphenols

(4) Ubiquinone

132. To avoid gastric upsets, iron

supplement should be taken
(1) Between two meals

(2) With large amount of water
(3) With meals
(4) In very small doses

. In considering drug-nutrient
interaction, which of the
following nutrients is not
considered when using diuretics ?
(1) Vitamin D
(2) Vitamin C
(3) Potassium
(4) Vitamin B

10
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135.

136.

137.

| 138.

| 134. Fat-soluble vitamin involved in

blood coagulation 1s
(1) Vitamin K
(2) Vitamin A
(3) Vitamin D
(4) Vitamin E

Who is known as the father of
nutritional sciences of India ?

(1) M.S. Swaminathan
(2) Varghese Kurien
(3) A.Laxmaiah

(4) Coluthur Gopalan

Fruits and vegetables are potent
sources of

{1) Saturated fat
(2) Antioxidants
(3) Free radicals
(4) Proteins

Non-digestible food ingredients
that stimulate the growth and
activity of certain bacteria in the
colon are called

(1) Insolubie fibre

(2) Probiotics

(3) Prebiotics

(4) Cellulose
Which of the following
statements is false about

nutrients in milk ?
(1) Milk is a good source of calcium.
(2) Milk is a good source of protein.
(3) Milk is a good source of iron.
(4) Milk is a good source of
vitamin D. :
a
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139.

140.

141.

142,

143.

144.

Safe protein requirements for
healthy Indian adults as per
report of the expert group of the
ICMR-NIN 2020 is

(1) 0.78 g/kg/day

(2) 0.83 glkg/day

(3) 1.00 g/kg/day

(4) 1.03 g/kg/day

The fat-soluble antioxidant
synthesized in the body 1s

(1) Lecithin

(2) a-tocopherol

(3) Glutathione

(4) Co-enzyme Q10

Honey contains which of the
following sugars ?

(1) Maltose

(2) Fructose

(3) Lactose

(4) Levulose

Vitamin D; is synthesised
photochemically by the action of

sunlight from which precursor ?
(1) Alfacaleidol

(2) 6-dehydrocholesterol

(3) 7-dehydrocholesterol

(4) Ergocalciferol

Identify the name of
unsaturated fatty acid.

(1) Lauric

(2) Myristic

(38) Oleic

(4) Butyric

As per the Indian Food
Composition Tables (NIN-2017),
foods have been categorized into
the following number of food
groups :

(1) Twenty

(2) Seventeen

(3) Five

(49) Four

the

10
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|
L 147,

148.

145. Jones factor for conversion of egg
nitrogen to protein is
(1) 6.38
2) 6.25
(3) 5.83
4 5.71
146. The group of plant pigments that
are precursors of vitamin A are
called
(1) Carotenoids
(2) Retinol
(3) Retinaldehyde
(4) a-carotene

Which of the following vitamins
is a precursor of a hormone ?

(1) Vitamin A

(2) Vitamin C

(3) Vitamin D

(4) Vitamin K

Which is another name for
cynocobalmin ?

(1) Vitamin By

(2) Vitamin B,,

(8) Vitamin B,

(4) Vitamin B,

! 149, Which of the following is the

sweetest among
occurring sugars ?
(1) Glucose

(2) Lactose

(3) Sucrose

(4) Fructose

naturally

. Principal protein in milk is
(1) Albumin
(2) Lactalbumin
(3) Casemn
(4) Lactoglobulin



10

T ——

TEFHE & T/ SPACE FOR ROUGH WORK

32




